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Mathematics
Arithmetic: Paper 5 
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÷

Year 6



1 84 x 6 =

2 109 - 10 =

3 4.4 + 0.5 =
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4 5691 + 735 =

5 27 x 3 =

6 64 ÷ 8 =

©twinkl.co.uk. You may photocopy this page. 

Total for 
this page

3

1 mark

1 mark

1 mark



7 205 - 8 =

8

9 298 x 1 =
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10 4.233 + 0.1 =

11 0.674 x 100 =

12                = 7082 - 927 
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13 990 ÷ 9 =

14 72 =

15 6672 + 7809 =
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16 10% of 6340 =

17 9.15 x 9 =

18
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19 478.2 x 10 = 

20 5621 ÷ 7 =

21 40 000 - 6000 =
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22 600 x 8 =

23 15.1 - 8.45 =

24 76 119 - 50 817 =
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26
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33 1

34 (3 + 4) x (11 - 4) =
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question answer marks

1 504 1

2 99 1

3 4.9 1

4 6426 1

5 81 1

6 8 1

7 197 1

8           or 1 1

9 298 1

10 4.333 1

11 67.4 1

12 6155 1

13 110 1

14 49 1

15 14 481 1

16 634 1

17 82.35 1

18 or 1

19 4782 1

20 803 1

21 34 000 1
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question answer marks

22 4800 1

23 6.65 1

24 25 302 1

25 1674 2

26 1

27 31 1

28 1

29 297 2

30 1

31 42 1

32 76 076 2

33 1

34 49 1

35 62 2

36 1

Total 40
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Guidance: Children will have 30 minutes for this test. Long division and long multiplication 
questions are worth 2 marks each. Children will be awarded 2 marks for a correct answer. 
They may get 1 mark for showing a formal method. All other questions are worth 1 mark each.
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